CONSUMPTION EXTERNALITIES: ‘Externality Diagrams’

TASK 1: VIDEO (45 minutes) 
[bookmark: _GoBack]Watch the following videos (LINK and LINK – click on these links or they are also at the bottom of this page if you need to type them into the URL bar).  The videos are on consumption externalities to reinforce the learning in the lesson.  Ultimately you need to understand:
(i) Why each diagram demonstrates a market failure (in this case allocative inefficiency of over or under consumption)
(ii) The logistics of the diagrams….where are the private, external and social costs and benefits
Then:
(i) Draw two diagrams below for positive and negative consumption externalities, highlight the ‘values’ (measured in pounds) for MSB,MPB and MEB on the y-axis (price level).
(ii) Explain why each diagram demonstrates market failure (remember to talk about the assumptions of ‘selfishness’ to understand where the free market equilibrium-B- would be as opposed to the socially optimal equilibrium – A)

	Positive Externality Diagram
Goods with unaccounted positive externalities are called ‘MERIT GOODS’.  As well as healthcare, other examples of merit goods might be education etc.  The consumption of these goods has benefits to the private individual BUT also to the rest of society (external benefits). However these external benefits are not taken into account by the person conducting the activity.
	Negative Externality Diagram
Goods with unaccounted negative externalities are called ‘DEMERIT GOODS’.  As well as fatty foods, other examples of good might be cigarettes, alcohol etc.  The consumption of these goods has benefits to the private individual BUT also has costs to the rest of society (external costs). However these external costs (negative external benefits!) are not taken into account by the person conducting the activity.

	DIAGRAM
	DIAGRAM

	EXPLANATION FOR WHY A MARKET FAILURE
	EXPLANATION FOR WHY A MARKET FAILURE



LINK 1: https://www.youtube.com/watch?v=aj6FTueEICY (Negative Externalities in Consumption) – 14 minutes
LINK 2: https://www.youtube.com/watch?v=lb1fnodI3YU (Positive Externalities in Consumption) – 12 minutes

TASK 2: MULTIPLE CHOICE ASSESSMENT (45 minutes)
Complete the following multiple choice questions under timed conditions (1 minute per question for those with standard time).  After the 10 minutes, access the answers on GOL and work out which ones you got wrong.  Now revisit these questions and try to understand why you got the questions wrong.

	QUESTION 1
[image: ]high

	QUESTION 6
[image: ]A luxury good


	QUESTION 2
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	QUESTION 7
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	QUESTION 3
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	QUESTION 8
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	QUESTION 4
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	QUESTION 9
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	QUESTION 5
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	QUESTION 10
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The table below shows the marginal private and external benefts and the marginal
private and extemal costs of  product at the fres rarket sulibrium Isvel of output

®
Warginal pivate bereit 2
Warginal extemal benefil B
Marainalpivate cost 2
Marginal extemal cost 0

Gowemment intervention in this market could improve the allocation o resources
becauss the product is rmst kel to be

A apublic good
B ademert good
€ aninferior good.

D amert good
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Wihich one of the following would an economist be most likely to classify s @
consurmption activty?

a

B
c
)

“The extraction of coal
An indvigual doing the washing and iraning for cliets
Someone enjoying the flowers in 3 publc park

A garage mechanic replacing the battery in a car
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Market failure atises when
A pricesriss in response to excess demand
o account s taken of positive extemalities in consumption

s are unprofitable and go out of business.

o 0w

costs increase as finms expand their production
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391. Consumers can create externalities when they consume different goods and services.
Examples include noise and air pollution from cars and motorbikes and the externalities created
by smoking and alcohol abuse. Negative consumption externalities lead to asituation where
the

a
b
c
d

Social benefit of production s less than private benefit
Socal benefit of consumption is less than private benefit
Social cost of consumption fs Less than private benefit

Social cost of consumption i greater than private benefit
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392. Positive externalities create external benefits beyond the people directly consuming a
good or service. This means that the

a) Private benefit is less than the private cost
b)
)
)

c
d) Social benefits will exceed private benefits

Social cost = social benefit
External costs are zero
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394. The diagram below illustrates the market for a product which creates positive
externalities when consumed.
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‘The govemmert is considering four possible captal investment projscts

It has the resources

to implement only one of thess projscts. The table below shows the estimated valus of the

private and exteral costs and bengfits that each project is expected to yield

New hospitals | Newroads | New rallways | Newhousing
®milion) | (&million) | (£million) | & million)
Privale benefits 600 500 1000 180
Privale costs 450 500 2000 n
Posiive externalties E) %0 1000 0
Negative externaties 50 8 200 12

Wihich one of the projects should the gavernment adogt if it wishes to maxirise the economic
welfare of the whole cormunty?

A New railways
B New hosptals
© New housing

D New roads
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Merit goods are likely to be nderprovided in a fres market sconommy becauss their
A private benefits exceed their social benefis,

B social benefts exceed thelr social costs.

o

private costs exceed their private benefts.

°

social benefits exceed their private benefts.
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399. When a the production and consumption of a good generates an externality in the
market

a
b
c
d

Socety's scarce resources are allocated efficiently
Someone is affected who is not nvolved in buying or selling of the good
The good's price reflects the externality

Government intervention can never improve the market's performance




image1.png
‘The diagrarm below shows the marginal private benefit (M) and rarginal social benefit
(MSB) curves and the marginal pivats cost (MPC) and marginal social cost (MSC) cuves for
& mert good

MPC = MSC

H

Inthe ahsence of gavernmert intervertion in this marke, a misallocation of resources is ikely
ta oceur because

Cutput

A the free market pric iston low
B there s aver-producton of the oood, of HI
C the free market output i oo high.
)

there is undsr-consumption of the good, of HJ.




